carrot

intermediate pattern

Yarn: Any DK weight yarn in orange and green

Needles: 1 pair 3.75mm needles

Knitting:

Hat
Using orange yarn and 3.75mm needles cast on 29 sts.
Work 12 rows of st st
Next row: (K2, K2tog) seven times, K1 (22 sts)
Work three rows of st st starting with a purl row.
Next row: (K1, K2tog) seven times, K1 ( (15 sts)
Work three rows of st st starting with a purl row.
Next row: K2tog seven times, K1 (8 sts)
Purl 1 row
Next row: K2tog four times (4 sts)

Cut the yarn and thread through remaining sts pulling
tight.

Making up

Sew up the carrot. Cut some lengths of green yarn and
attach tassels to the bottom of the carrot and trim.

we never add sugat

Abbreviations K = Knit P = Purl Tog = Together Sts = stitches St st = stocking stitch
k2tog = knit two together P2tog = purl two together

the 'mr\ocent Thanks for knitting a little hat for the Big Knit this year. Please send your hats to:

bi g knit The Big Knit, Fruit Towers, 342 Ladbroke Grove, London, W10 5BU
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